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8.5 Solving Exponential Equations

November 28, 2016

An exponential equation is... LA/"?\D/V\ H\& \/-QJ\/\A)O\‘Q S
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1: Write both sides with the same base.
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Solve:
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Strategy 2: Use logarithms.
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Solve for the value of y. 48 6 — 2 (3) 7—¥  Three "looks" at the problem...
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Example 1:
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Example 2:
Solve 2x+2 _ 2x — 24
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Example 3: A problem from last year you couldn't solve... now you can!

You invest $4500 in a Canadian bank that is giving you 6% interest,
compounded monthly. How long will it take for the money to grow
to $6000? Recall the compound interest formula is A = P(1 + i)»
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Example 4: Solve for x to 2 decimal places. 2x+1 — 3x—1
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